Eal 21656 21356
an2 8032 7879
a3 13301 12528
R4 5799 5587
7215 B
1.
12
PR 21656 21356 101
2 8032 7879 102
[ comp 19100 18115 105 ]
2.TOP X
TOP 3
=& 21656 21356 101
=) 8032 7879 102
=83 13301 12528 106
comp 579 5587 1.04

TOP

1.01
1.02
1.06

1.04

BHE=F

a0

A

ES AN =t ET=pas

a5
bz

iR
‘%FE=FE&3+F§:E@

FIEE
=EE
FNERF
Bz
VEHFEIR
R
==
praliS

(B0E/ ER)

ez =2 -
LHESE comp

[ S FaaEEE - ]
& )
s -
A A -

HEETT
HE i T -
AFHERE comp

[ FEs TOP X - ]
[=4 3

Exan)



5799

13301

8032

21656

5587

12528

7879

21356

1.04

1.06

1.02

1.01

EFREERTE,

FUlGs
=hizdl

PHER

PR RS-

TOP 3 H9&FHE=Ffm1

E-=3
tE

kS R EY
3 - 1=
B R EY

>
ol

]
hm



	数据合并

